### FAIRFIELD TOWNSHIP **RESOLUTION NO. 24-122**

#### RESOLUTION APPROVING REPAIR OF FIRE ENGINE #213, FROM SPECIALTY TRUCK REPAIR, INC., AT A TOTAL COST OF \$30,901.41.

WHEREAS: Fire Engine #213 needs head gasket and subframe crack repairs in order to be fully operational;

NOW, THEREFORE, BE IT RESOLVED, by the Board of Trustees of Fairfield Township, Butler County, Ohio, as follows;

- SECTION 1: The Board hereby approves the truck repair for Fire Engine #213, from Specialty Truck Repair, Inc., at a total cost of \$30,901.41, as set forth on attached Exhibit "A".
- **SECTION 2:** The Board hereby dispenses with the requirement that this resolution be read on two separate days, pursuant to RC 504.10, and authorizes the adoption of this resolution upon its first reading.
- **SECTION 3** This resolution is the subject of the general authority granted to the Board of Trustees through the Ohio Revised Code and not the specific authority granted to the Board of Trustees through the status as a Limited Home Rule Township.
- SECTION 4: That it is hereby found and determined that all formal actions of this Board concerning and relating to the passage of this Resolution were taken in meetings open to the public, in compliance with all legal requirements including §121.22 of the Ohio Revised Code.

Vote of Trustees

**SECTION 5:** This resolution shall take effect at the earliest period allowed by law.

Adopted: August 13, 2024

<b>Board of Trustees</b>		Vote of Trustees
Shannon Hartkemeye	Slama terthing	405
Michael Berding:	MODE	Yes
Joe McAbee:	Doe nice	485
This is to certify that	AUTHENTICATION at this is a resolution which was duly passed Fiscal Officer this 13 day of 4 day	and filed with the Fairfield Township, 2024.
	ATTEST: Shelly Schultz Re	Schutte Airfield Township Fiscal Officer
	APPROVED AS	
	Lawrence E. Bart	Diere, Township Assistant Law Director

# **Specialty Truck Sales &** Fax 859-442-7048

Fax 859-442-7048 90 Jolly Industrial Park Dr. Wilder, KY 41076-9773

# **Estimate**

DATE	ESTIMATE#
7/31/2024	1670

NAME / ADDRESS	
Fairfield Township Fire Dept. 6048 Morris Road Fairfield Twp., OH. 45011	

			Unit	t no.
			02	27
QTY	DESCRIPTION		COST	TOTAL
6	C PM service		150.00	900.00
1	Replace transmission filter		150.00	150.00
0.5	Clean and treat air filter		150.00	75.00
1	Service generator		150.00	150.00
1	BALBF1378-SPS filter		66.96	66.96
I	BALBF7924 filter		37.77	37.77
1	BALBW5071 filter		22.36	22.36
1	BALPT9415MPG filter		155.97	155.97
1	BALBD7309 filter		78.72	78.72
1	FLECV50628 filter		272.25	272.25
1	BALBT839-10 filter		14.44	14.44
20	MIS15w40 oil		6.32	126.40
4	MISSYNATF synthetic ATF		19.72	78.88
1	99-5000 KN air filter cleaning kit		42.82	42.82
1.5	Rebuild and install intake relief valve		150.00	225.00
1	HAL546-00031-00-0 intake relief valve kit		385.69	385.69
2	Replace pump transmission output shaft seal		150.00	300.00
		TOTAL		

Page 1

## **Specialty Truck Sales &**

Fax 859-442-7048 90 Jolly Industrial Park Dr. Wilder, KY 41076-9773

### **Estimate**

DATE	ESTIMATE#
7/31/2024	1670

NAME / ADDRESS	
Fairfield Township Fire Dept.	
6048 Morris Road	
Fairfield Twp., OH. 45011	

		Unit no.	
		0	27
QTY	DESCRIPTION	COST	TOTAL
1	MERA105E1227 seal	33.46	33.46
1	HAL048-1580-50-0 G case bearing kit	141.00	141.00
	MIS75w90 oil	9.41	122.33
36	Check coolant leak Found leaks from EGR cooler and head gasket. Replace ER cooler (upgrade EGR cooler) and head gasket. Remove radiator and charge air cooler to be cleaned and	150.00	5,400.00

checked. Replace thermostat and flush cooling system 300.00 Post repair pump service test 1500 GPM and less (Per NFPA 1910) 300.00 175.00 175.00 Clean and test radiator 225.00 225.00 Clean and test charge air cooler 418.98 418.98 1 5473339 upper engine gasket set 14.40 6 3867471 o-ring 2.40 24.30 6 3937142 injector seal 4.05 6 4954487 o-ring 3.96 23.76 9.73 19.46 2 3627695 o-ring 24.79 49.58 2 | 3684202 connector 4.98 4.98 1 3678603 o-ring

**TOTAL** 

# **Specialty Truck Sales &** Fax 859-442-7048

Fax 859-442-7048 90 Jolly Industrial Park Dr. Wilder, KY 41076-9773

## **Estimate**

DATE	ESTIMATE#
7/31/2024	1670

NAME / ADDRESS	
Fairfield Township Fire Dept. 6048 Morris Road Fairfield Twp., OH. 45011	

Unit no.		
	027	

QTY	DESCRIPTION		TOTAL
2	3922794 o-ring	3.86	7.72
1	3931284 o-ring	5.11	5.11
2	3957942 connector	19.30	38.60
1	3678912 o-ring	3.78	3.78
1	3678786 o-ring	4.20	4.20
2	4984382 sealing washer	10.88	21.76
8	3959799 isolator	9.53	76.24
4	3818824 nut	4.34	17.36
26	3960043 head bolt	11.17	290.42
12	3944593 bolt	5.23	62.76
1	3966768 harness	66.32	66.32
1	5255739 breather tube	108.78	108.78
1	5271480 o-ring	7.12	7.12
1	5273379 thermostat	75.98	75.98
1	4936967 seal	19.68	19.68
1	4352347 EGR cooler retrofit kit	989.18	989.18
1	4376312 EGR cooler	2,364.52	2,364.52
1	63-2469 coolant sensor	136.42	
1	custom hose	125.00	125.00

**TOTAL** 

# Specialty Truck Sales & Fax 859-442-7048

Fax 859-442-7048 90 Jolly Industrial Park Dr. Wilder, KY 41076-9773

### **Estimate**

DATE	ESTIMATE#
7/31/2024	1670

NAME / ADDRESS	
Fairfield Township Fire Dept. 6048 Morris Road Fairfield Twp., OH. 45011	

Unit no.

\$30,901.41

QTY	DESCRIPTION	COST	TOTAL
1	reconditioned cylinder head	4,200.00	4,200.00
15	gal MISFC50/50 coolant	39.73	595.95
	Misc parts and shop supplies	250.00	250.00
70	Firebody subframe cracked.	150.00	10,500.00
	Remove booster tank. Clean and repair subframe. Realign and weld		
	crossmembers. Add and weld in additional support for subframe. Install booster tank.		
2	3"x3"x.25"x60" aluminum tube	175.00	350.00
Į.	.75"x3"X60" aluminum flat bar	150.00	300.00
	Misc parts and shop supplies	250.00	250.00

Estimate good for 30 days

**TOTAL**